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Instructions :
1. = Seredt Aifed garss I§wa W
Fill in every information asked for.

2. &= 35 SiEA
Attempt all questions.

3. == 3EEE SrSeedl SrE gorEn fam.
Write explanation in the blank space below each question.

4. FT== TR ToE vt Rt s e,
Use the blank space provided below each questions for rough work.
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Ql 10,26 4288 L= T FEAMIFRde 50 1 g m.
Find the 50* term in the sequence 10, 26, 42, 58, ................

Rough Work /== &M




Q2 3.7,8, 132 o7 T TeE 919 TR 3 99 ge fd T g ? = ¥t fordt Ad= 7

How many four digit even numbers can be made using digits 3,7, 8, 1; each once only?
What is the sum of them? |
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In the adjacent figure, a circle of radius 7cm is drawn inside

a square, touching all of its sides. Find the area of the dotted
portion.
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Q4 19 TgF 48 wa=m FHaR FEE o{ Fal. 4
Find out the sum of numbers serially from 19 to 48.
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|3 means 3 X 2 X 1. |5 =5x4x3x2x1.Considering the meaning find the value of

5
12

Q5 B3I HY 3 X 2 x 1. [5=5x4x3x2x1. @ H¥ @& A

Rough Work /&= &M




Q6 343, 9119, 14841 FETCE GEAT BHTE ST TV, T4 STEIREH a'-nﬁrmm 3T
2rg 3, T o7 A o7 e Tl STTRd 7 98T I =N +7h T4 g, (1 8 favee aed),
AETA e Ao o ?

The numbers such as 343, 9119, 14841; in which the order of digits from the left as
well as from the right is the same, are called palendromic numbers. How many such
three digit numbers are there? Which is the smallest divisor, other than 1, of all such
four digit numbers?
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Q7 e ¥ oTh. R 32 477 7 k. WA A B

: : 29
Two fractions, with denominators 4 and 7, add up to 28" Find the fractions.

Rough Work /&= &m
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Q8 U SIS B TV T 150 ¥ 3RE. 1 T i 10 T Avaien e, 2 e 5

10 T VA fvge SN 5 Fareh 10 T TvETeA UTE TTed. T ol 9eedTd Sl S|
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A tiny cloth bag contains Rs. 150/- in the form of coins of different tiennminatiuns.
Re 1/- coins are four times of Rs. 10/- coins. Rs. 2/- coins are three times and Rs. 5/- *

coins are two times of Rs. 10/- coins. Find the number of coins of each denomination.

Rough Work /&= &




Q.9 TiiEwEs A= Semwe Sed. ool 9 qE FRIRIW FEAHE w09 52 R, g g fow=n S
Feiaom seaE =0w 34 3 A 9 oo Fefaia g@E a0 66 Ad. T IAT FHSi
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Prateek has three number cards. The sum of numbers on first and second of them is

52. The sum of numbers on second and third is 34 and the sum of third and first is 66.
Find the number on each of the cards. 3

Rough Work /= ™




Q.10 HM ¥ 7. Simplify. o

1 1 1
763383 | T63x380 380 x 383
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Q.12 3ab 59124 a1 TEeN 33 3 WM . W a 0 b= TR A F e F@. 6
The number 3ab 59124 is divisible by 33. Find all possible values of a and b.

Rough Work /&= &m
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T 9090 3493
Q13 ¥R &= Simplify. 5555 " 5180

Rough Work /&= &m
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Q.14 ¥ 70 HiX e T GRETRR WU SR, fTEme 100 =, dawee R am AR, 6
FEEd 5 M. ¥ fetae e, Ieidl! SHiF 91 9= o750 fvmmaarh oe, i yewre arean
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R, 9, REs A1 IS SeamE SiEE 97 91 9 @ el 89 Tl
IS AT SIS 8% Fial. y
There is a square plot of side 70m. In it there is a garden of 100 sq. m. area, surrounded

by lawn of 5m width, The remaining part of the plot is to be divided among four brothers
such that the shape and area of each part is the same.

Draw a good sketch of the plot, garden, lawn and the part each brother gets. Also find
the area of the part each of them will have. '

Rough Work /#= #m
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Q.15 mmmwmmmméﬁé TS, T QAT 12,000 ¥
1 o SrEEE i T U 3. I /M 9 nfe=ri) Are Srsell. TR HieeA @ 8,000

ﬁwﬁmwm.mmﬂmwmmﬁ?ﬁ?

A bunglow-owner employed a gardener for a period of one year, on the terms of pay of
Rs. 12,000/~ and a mobile phone, at the end of the year. But the gardener left the job
afier 9 months. Hence the owner paid him Rs. 8000/- and a mobile phone. What was

the price of the mobile phone?
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Rough Work /&= FM
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Q.16 mmmﬁmﬁmmﬂaﬂaﬁﬁmm%ﬁﬁﬂﬁ.ﬁﬁaw 6
TGS TE 624 A W Fid e Yietl TG fohdl FFaI ¢
As shown in the figure, a structure of black and white circles is created. If the total
number of circles in it is 624, how many of them are white?
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Rough Work /&= ™
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ace of present ages of mother, father and son is 24 years. When the son was
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_ gm of mother and father was 24 years. Find the present age of

Rough Work /&= %M




Q18 “W(6*4)»3=60;(3%2)® 5=50;(4%1) @ 4=40; | * 3 ¢ I fagia Taae v 6
Hore € e

8= (5% 3) @ 10 = frdi 7 R e,

If(6*4) © 3=60;(3%2) ® 5=50;(4*1) @ 4=40; then state the operations hidden
insymbols*and OF %

Also, find the value of (5 * 3) ® 10.

Rough Work /= sm
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The total amount of prizes Sonali, Manali and Mitali got, was Rs. 3145/- Sonali got

95% more amount than Manali. Manali got 20% more than Mitali. How much did
each of them get?

Rough Work /%= &M
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